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Seat
No.

M.A. – I (Semester – I) (CBCS) Examination, 2015
ECONOMICS (Paper – I)

Micro Economic Analysis – I (New)

Day and Date : Monday, 16-11-2015 Max. Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Right side digit indicates marks.

1. Choose the correct answer : 14

1) According to _____________, economics is mainly dealt with studies of
wealth of nation.

a) Marshall b) Robbins

c) Adam Smith d) J. M. Keynes

2) Micro economics is the branch of economics which is introduced by
_____________

a) Adam Smith b) Rangner Frisch

c) Public economics d) None of the above

3) According to Dr. Marshall Utility is the  _____________ concept.

a) Ordinal b) Cardinal

c) Ordinal and Cardinal d) Psychological

4) _____________ known for exception to the law of demand.

a) Diamond b) Normal Goods

c) Food items d) None of the above

5) All factors of production are privately owned and managed by individual is
known as _____________

a) Socialistic economy b) Capitalistic economy

c) Mixed economy d) None of the above



6) Extension in demand is due to variations in the _____________

a) Price b) Price of related goods

c) Income d) All the above

7) _____________ shows the various points on the curve which gives the same
level of satisfaction.

a) Indifference curve b) Utility curve

c) Satisfaction curve d) Cost curve

8) Find the correct statement.

a) Indifference curve  is parallel to the X axis

b) Indifference curve is parallel to the Y axis

c) Indifference curve is concave to the origin

d) Indifference curve is convex to the origin

9) Strong Ordering Hypothesis is used in _____________

a) Revealed Preference Theory b) Consumer Surplus Theory

c) Production Theory d) Demand Theory

10) Responsiveness of the demand to change in income is known as
_____________

a) Price elasticity of demand b) Income elasticity of demand

c) Cross elasticity of demand d) None of the above

11) _____________ is the total cost of per unit of output.

a) Marginal Cost b) Average Variable Cost

c) Total Cost d) Average Cost

12) _____________  cost curve is  known as the ‘Envelope’ curve.

a) LAC b) LMC

c) MC d) SAC

13) P = AR = MR this condition we find in _____________

a) Perfect competition b) Monopolistic competition

c) Oligopoly market d) Monopoly market

14) Under the Monopoly the demand curve has _____________ shape.

a) Positive b) Negative

c) Straight d) None of the above
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2. Write short notes (any four) : 12

1) Cardinal Utility

2) Price Effect

3) Arch elasticity of demand

4) Heterogeneous oligopoly

5) Kinked demand curve.

3. Write short answer (any four) : 16

1) What is meant by ordinal utility ?

2) Write a note on Income Consumption Curve.

3) What is equi-marginal proportionality rule ?

4) Why indifference is not parallel to the X or Y axis ?

5) What is capital deepening technological progress ?

4. Answer any two : 14

1) Explain the consumer equilibrium with the help of indifference curve.

2) Discuss the modern theory of cost.

3) Explain the short run equilibrium of firm under perfect competition by using
total cost and total revenue approach.

5. Explain the various application of Indifference Curve. 14

OR

Explain the Sort run  and Long run equilibrium of firm under monopoly competition.

_______________
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M.A. (Part – I) (Semester – I) Examination, 2015
ECONOMICS (Paper – II) (New CBCS)

Quantitative Techniques for Economics – I

Day and Date : Friday, 20-11-2015 Max. Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions :  i) All questions are compulsory.
ii) Calculator is permitted.

1. Choose the correct answer from the given alternatives : 14

1) Correlation coefficient lies between

a) 1 to 10 b) 1 to 1 c) 0 to 1 d) None of them

2) Median divides the distribution into ________ parts.

a) four b) three c) two d) many

3) Amount of Rainfall and Income of Industrial Workers is

a) Negatively correlated b) Positively correlated

c) Zero correlated d) None of the above

4) If, Intercept = 200, Slope = 20 in case of regression line of Y on X ; Find value
of Y, When X = 2

a) 222 b) 220 c) 240 d) 180

5) The value of the standard deviation is determined by ________ item.

a) single b) some c) every d) both b and c

6) Coefficient of Correlation between Saving and Expenditure is

a) Zero b) One c) Negative d) Positive

7) Partial Correlation studies

a) One variable b) Two variable

c) Three variable d) More than two

P.T.O.
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8) Coefficient of Correlation between sale of woolen cloth and day temperature.

a) Zero b) One c) Negative d) Positive

9) Price and Demand is

a) Negatively correlated b) Positively correlated

c) Zero correlated d) None of the above

10) Correlation coefficient between Interest Rate and Amount of Loan is

a) Zero b) One c) Negative d) Positive

11) _________ is not affected by extreme values.

a) Mode b) Range c) Median d) a and c

12) _________ is not calculating open end classes.

a) Mode b) Mean and Median

c) Median d) Mean

13) Simple correlation studies

a) One variable b) Two variable

c) Three variable d) More than three

14) Range is

a) Positional average b) Use extreme value

c) a and b d) None of the above

2. Write short notes (any 4 out of 5) : 12

1) Types of Quantitative Techniques

2) Merit of Mean, Mode and Median

3) Difference between Correlation and Regression

4) Scatter Diagram

5) Limitations of Quantitative Techniques.

3. Solve problem (any 4 out of 5) : 16

Problem 1 : Calculate Mode for the following data.

Investment (Rs. Cr.) 10 − 20 20 − 30 30 − 40 40 − 50 50 − 60

No. of Company 10 30 40 50 20
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Problem 2 : Calculate Median for the following data.

Expenditure (Rs. Lakh) 10 − 20 20 − 30 30 − 40 40 − 50 50 − 60

No. of Family 200 300 500 400 100

Problem 3 : Calculate Arithmetic Mean for the following frequency distribution.

Apple Prod. (MT) 20 − 30 30 − 40 40 − 50 50 − 60 60 − 70

No. of Growers 200 100 600 300 200

Problem 4 : Calculate Standard Deviation and Mean for the following data.

Investment (Rs. Cr.) 10 − 20 20 − 30 30 − 40 40 − 50 50 − 60

No. of Institutions 100 600 400 300 100

Problem 5 : Calculate Standard Deviation and Mean from following data.

Total Marks 480 490 510 520 600

No. of Students 10 20 40 20 10

4. Solve problem (any 2 out of 3) : 14

Problem 1 : Calculate Coefficient of Variation for the following frequency
distribution.

Wage Rate (Rs. '000') 30 − 40 40 − 50 50 − 60 60 − 70 70 − 100

No. of Workers 100 300 400 500 200

Problem 2 : Calculate Karl Pearson’s Coefficient of Correlation.

Saving (Rs.) 100 150 200 200 250

Consumption (Rs.) 200 300 400 500 500

Problem 3 : Calculate Spearman’s Rank Coefficient of Correlation.

X 100 300 1000 500 222 982 300 300

Y 700 800 300 700 440 436 600 700



5. Solve problem (any 1 out of 2) : 14

Problem 1 : Find out Regression Line of Y on X for the following data.

      And Estimate Y, When X = 400.

Price (Rs.) (X) 500 600 700 800 100

Demand (Units) (Y) 200 100 180 140 100

Problem 2 : Find out Regression Line of X on Y for the following data.

     And Estimate X, When Y = 500.

X 400 500 600 700 900 1000

Y 250 240 200 150 140 100

_______________
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Seat
No.

M.A. – I (Semester – I) Examination, 2015
ECONOMICS (New-CBCS)

Paper – IV : Indian Economic Policy

Day and Date : Monday, 23-11-2015 Max. Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Right side digit indicates marks.

1. Choose the correct answer : 14

1) _________ model was used for the seventh plan.

a) Vakil and Brahmananda b) P. C. Mahalnobis

c) Gadgil d) Dandekar and Rath

2) The period of sixth plan is __________

a) 1970 – 75 b) 1980 – 85

c) 1985 – 90 d) 1990 – 1995

3) __________ is the thrust area of twelve five year plan.

a) Inclusive growth b) Exclusive growth

c) Warranted growth d) Increasing growth

4) The National Planning Commission was established on _________

a) 1950 b) 1951 c) 1952 d) 1953

5) _________ is the agency who calculates the Wholesale Price Index.

a) Reserve Bank of India

b) Directorate of Industrial Production and Price

c) Office of Economic Adviser

d) Government of India

6) Changes brought in the agrarian structure through direct intervention are
known as __________

a) New policy b) Land reforms

c) Tenancy reforms d) None of them



SLR-D – 4 -2- �������

7) Under the _________ system the responsibility of paying land revenue to the
government was village headman.

a) Zamindari system b) Mahalwari

c) Ryotwari d) None of the above

8) NABARD was established in _________

a) 1980 b) 1981 c) 1982 d) 1983

9) The six major commercial banks were nationalized in _________

a) 1970 b) 1969 c) 1967 d) 1980

10) MSP is __________

a) Maximum support price

b) Maximum special price

c) Minimum support price

d) Minimum special price

11) Micro industries are those which have the investment limit up to __________

a) 25 lakh b) 50 lakh

c) Less than 25 lakh d) More than 25 lakh

12) MRTP acts is dealt with _________

a) Concentration of monopoly power

b) Inducement to the monopoly power

c) Prevention of monopoly power

d) None of the above

13) _________ are the revenue sources of Central Government.

a) Tax

b) Non-tax revenue

c) Revenue from public sector unit

d) All the above

14) _________ policy is supply of money, bank rate and open market operation.

a) Fiscal b) Monetary

c) Tax policy d) None of the above
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2. Write short notes (any four) : 12

1) Economic planning

2) Procurement price

3) Food security

4) Regulated market

5) Money market.

3. Write short answer (any four) : 16

1) What is meant by plan holiday ?

2) What are the non-institutional sources of credit ?

3) What are the main functions of Food Corporation of India (FCI) ?

4) What is meant by disinvestment ?

5) What is meant by repo rate ?

4. Answer any two questions : 14

1) What are the strategies are adopted during second and third five year plan ?

2) Discuss the role of Regional Rural Bank in agricultural finance.

3) Discuss the privatization policy in brief.

5. What is meant by agriculture marketing ? What are the problems of agriculture
marketing ? What are the steps undertaken to correct the problems of agriculture
marketing ? 14

OR

Critically evaluate the New Economic Policy – 1991 in detail.

_____________________
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M.A. – I (Semester – I) (CBCS) Examination, 2015
 ECONOMICS

Principles and Practices of Co-operation (New) (Paper-V)

Day and Date : Thursday, 26-11-2015 Max. Marks : 70

Time : 10.30 a.m. to 1.00 p.m.

Instructions :  1) All questions are compulsory.
2) Right side digit indicates marks.

1. Select the correct answer. 14

1) Co-operative structure is designed on the principles of

a) Mutual Help

b) Democratic decision making

c) Open membership

d) All the above

2) _______ is the year declared by UN as the International year of co-operatives.

a)  2012 b) 2013 c) 2014 d) 2011

3) The co-operative movement in India was started in

a) 1901 b) 1902 c) 1903 d) 1904

4) _______ is made available co-operative development fund for co-operative
societies.

a) RBI b) NABARD c) SCBs d) NCBs

5) In India short and medium term credit co-operative structure is a _______
structure.

a) Two-tier b) Three-tier c) Four-tier d) Five-tier

6) _______ is the bank that provides short term credit  to the farmer at the
district level.

a) Primary co-operative agriculture and Rural Development Banks

b) Primary agriculture co-operative society

c) District Central Co-operative Banks

d) None of the above

P.T.O.
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7) Who introduced co-operative society in India ?

a) Lord Curzon b) Lord Wavell

c) Lord Rippon d) Lord Cornwallis

8) PACS is

a) Primary agriculture Co-operative society

b) Prime agriculture Co-operative society

c) Premium agriculture Co-operative society

d) None of the above

9) District Central Co-operative Banks operates at the _______ level.

a) State b) District c) Rural d) Local

10) ________ is the agency which gives license to the co-operative banks.

a) RBI b) NABARD

c) State Government d) Central Government

11) _______ is  the apex institution at state level for co-operative banks.

a) District Central Co-operative Bank

b)  Primary Agriculture Cooperative Banks

c)  State Co-operative Bank

d)  State Government

12) _________ is known as father of cooperation.

a) Robert Oven b) Lord Wavell

c) Lord Rippon d) Lord Cornwallis

13) The membership of co-operative society is _______ all.

a) Closed b) Open c) Compulsory d) None of the above

14) NAFED is mainly dealt with

a) Co-operative Marketing

b) Co-operative Credit

c) Co-operative Investment

d) All the above



2. Write short notes (Any four) : 12

1) Values of Co-operation

2) State Co-operative Bank

3) Money Lender

4) NAFED

5) Labor Co-operatives.

3. Write short answer (any four) : 16

1) What is meant long term credit ? Which co-operative societies are provide
long term credits ?

2) What are the principles of co-operation ?

3) What is the Processing Co-operative Society ?

4) What is meant by Consumer Co-operatives ?

5) What is meant by Non Credit Co-operative Society ?

4. Answer any two questions : 14

1) Discuss the development of Co-operative movement in the world.

2) Explain the progress of consumer Co-operative Societies.

3) What are the problems of housing Co-operatives ?

5. Discuss the progress and problems of Urban Co-operative Banks. 14

OR

Discuss the recommendations of Shivajirao Patil Committee.

–––––––––––––––––
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��������	� SLR-D – 13

Seat
No.

M.A. – I (Semester – II) Examination, 2015
APPLIED ECONOMICS

Economics of Environment (New – CGPA) (Paper – III)

Day and Date : Saturday, 21-11-2015 Total Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Right side digit indicates marks.

1. Select the correct answer : 14

1) Environmental economics is a ________________

i) Social science ii) Positive and Normative science

iii) Micro science iv) Macro economics

2) Sustainable development means ________________

i) Development of underdeveloped countries

ii) Meeting  the needs of present generation without compromising the needs
of future generation

iii) Development of resources

iv) Water resources

3) Lowest populated State in India is ________________

i) U.P. ii) Maharashtra

iii) Meghalaya iv) Arunachal Pradesh

4) India’s geographical areas is ________________ million sq. km.

i) 3.28 ii) 3.26 iii) 3.27 iv) 3.29

5) The variability among the species is known as ________________

i) Biodiversity ii) Geo-diversity

iii) Resource diversity iv) None of the above
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6) Name of gas leaked in Bhopal gas tragedy was ________________

i) MIC gas ii) Nitrogen

iii) CI iv) CO2

7) Green house effect is related to ________________

i) Global warming ii) Global gas

iii) Green gas iv) None of the above

8) World Environment Day is celebrated on ________________

i) June 6 ii) June 5 iii) July 5 iv) July 6

9) Doha Conference took place at ________________

i) Qatar ii) Germany

iii) U.K. iv) USA

10) The Air Act was passed in ________________

i) 1981 ii) 1982 iii) 1983 iv) 1984

11) The Wildlife Protection Act was passed in ________________

i) 1973 ii) 1972 iii) 1974 iv) 1975

12) ________________ is associated with Chipko Movement in India.

i) Vinobha Bhave ii) Sundarlal Bahuguna

iii) Tulsi iv) Mahavira

13) Environment problem can be solved by ________________

i) Education ii) Value based environment education

iii) Physical education iv) Health education

14) Solar energy is ________________

i) Renewable resources

ii) Non-renewable resources

iii) Renewable and non-renewable resources

iv) None of the above
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2. Write short notes (any four) : 12

1) Renewable Resources

2) Aquatic Ecosystem

3) Afforest ration

4) Green Gas

5) Chipko Movement.

3. Write short answer (any four) : 16

1) Define the concept of economic development.

2) Explain the term sustainable development.

3) What are the types of dam ?

4) What are the causes of ozone depletion ?

5) Explain in brief Social Forestry.

4. Answer any two questions : 14

1) Explain the relationship between environment and economic development.

2) What are the causes and impacts of deforestation ?

3) Explain the theory of limit to growth.

5. a) What is Environmental Economics ? Explain its various subject matter. 14

OR

b) Discuss in detail the Environmental Audit.

_____________________
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Seat
No.

M.A. (Part – I) (Semester – II) (New CGPA) Examination, 2015
APPLIED ECONOMICS

Computer Applications in Economics (Paper – V)

Day and Date : Friday, 27-11-2015 Total Marks : 70
Time : 10.30 a.m. to 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Calculator is permitted.

1. Choose correct alternative. 14

1) Formula of Compound Growth Rate when we have two observations.

a) = (((YT/YO)^(1/t)-1)*100

b) = ANTILOG(B-1)*100

c) = ANTILOG(B-1)

d) = CGR(ANTILOG)-1*100

2) In Excel, function is use for computing Arithmetic Mean

a) = MEAN(CELL ID)ENTER

b) = SUM(CELL ID)ENTER

c) = AVERAGE(CELL ID)ENTER

d) = AVAREGE(CELL ID)ENTER

3) In Excel, function is use for computing Total Value of the series.

a) = TOT(CELL ID)ENTER

b) = MIN(CELL ID)ENTER

c) = MAX(CELL ID)ENTER

d) = SUM(CELL ID)ENTER
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4) In Excel, function is use for computing Constant value in Regression.

a) = CONSTANT(CELL ID)ENTER

b) = SLOPE(CELL ID)ENTER

c) = INTERCEPT(CELL ID)ENTER

d) = REGRESSION(CELL ID)ENTER

5) In Excel, function is use for computing Beta(Regression Coefficient) value.

a) = BETA(CELL ID)ENTER

b) = SLOPE(CELL SLOPE)ENTER

c) = COEFFICIENT(CELL ID)SLOPE

d) = SLOPE(CELL ID)ENTER

6) In Excel, function is use for computing Maximum value in the series.

a) = MAXIMA(CELL ID)ENTER

b) = MIN(CELL ID)ENTER

c) = MAX(CELL ID)ENTER

d) = HIGHEST(CELL ID)ENTER

7) In Excel, function is use for computing Standard Deviation.

a) = STANDARD(CELL ID)ENTER

b) = DEVIATION(CELL ID)ENTER

c) = STDEVP(CELL ID)ENTER

d) = STADEV(CELL ID)ENTER

8) In Excel, function is use for computing correlation.

a) = CORRELATION(CELL ID)ENTER

b) = CORRELAT(CELL ID)ENTER

c) = CORREL(CELL ID)ENTER

d) = COEFFICIENT(CELL ID)ENTER
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9) In Excel, function is use for computing Minimum value in the series.

a) =MINIMA(CELL ID)ENTER

b) = MIN(CELL ID)ENTER

c) = LOW(CELL ID)ENTER

d) = LOWER(CELL ID)ENTER

10) In Excel, function is use for computing natural logarithm value.

a) = NL(CELL ID)ENTER

b) = LN(CELL ID)ENTER

c) = LOG(CELL ID)ENTER

d) = EXP(CELL ID)ENTER

11) Correlation analysis deals with __________

a) Simple correlation

b) Independent variable

c) Association between the variables

d) Dependent variable

12) Relationship between dependent and independent variable studied in

a) Time series

b) Regression

c) Index numbers

d) None of them

13) Moving average method used in

a) Regression b) Averages

c) Correlation d) Time series

14) Modulation and demodulation are the process of

a) Connection Device b) Modem

c) Modulator d) OSI



2. Write short notes (4 out of 5) : 12

1) Types of computer

2) Audio-video output

3) History and development of internet

4) Monitor

5) Excel Main Menu.

3. Write short answer (any 4 out of 5) : 16

1) Discuss the Utility Software.

2) Explain the various types of Printers.

3) Write note on basic components of computer.

4) Explain the excel worksheet structure.

5) Discuss the system and application software.

4. Write long answer (any 2 out of 3) : 14

1) Explain the Central Processing Unit.

2) Write note on the Hardware.

3) Explain the secondary storage devices.

5. a) Write note on Operating System. 14

OR

b) Discuss the various types of Input Devices.

_____________________
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Seat
No.

M.A. (Part – II) (Semester – III) Examination, 2015

APPLIED ECONOMICS (New CGPA)

Paper – I : Public Economics

Day and Date : Monday, 16-11-2015 Total Marks : 70
Time : 2.30 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Choose correct alternative : 14

1) The economy which has feature of both capital and socialistic economy is
called ___________

a) Communist economy b) Socialist economy

c) Mixed economy d) Capital economy

2) The Principal of Governments Non-Interference in the economy was given by
___________

a) H. B. Chenery b) Adam Smith

c) A. K. Sen d) J. J. Polak

3) The concept of “Merit Good” is given by___________

a) Amartya Sen b) Musgrave

c) Keynes d) Adam Smith

4) Lindal and Wicksel has given the model which is based on ability to pay
principle, that model name is___________

a) Voluntary Exchange Model b) Democratic Exchange Model

c) Impossibility Theorem d) Market Imperfection Model
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5) Market failure can occur when

a) Monopoly power exists in the market

b) Cost is decreasing

c) Externalities are there

d) All of the above

6) According to ___________ principle the burden of taxation must be in the
proportion to the benefit received by a person from the expenditure made by
the government.

a) Benefit b) Ability to pay c) Equity d) All of the above

7) Laffer curve is a theoretical representation of the relationship between ___________

a) Revenue raised by taxation and all possible rates of taxation

b) Revenue raised by direct taxes and direct tax rates

c) Revenue raised by indirect taxes and direct tax rates

d) Expenditure of the government and all possible tax rates

8) ___________ = Private cost + External cost.

a) Social cost b) Marginal cost

c) Average cost d) Total cost

9) An economic theory of democracy was given by___________

a) Amartya Sen b) Musgrave c) Keynes d) Anthony Downs

10) Double taxation refers to ___________

a) Taxation of the same earnings at two levels

b) Double taxation at two levels

c) Double taxation at one level

d) None of the above

11) According to the ___________ theory the tax should be levied only on surplus
bearer.

a) Ability to Pay b) The concentration theory

c) Benefit theory d) None of the above
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12) According to ___________ its impossible to find out community preferences
from ranked individual preference.

a) Kenneth Arrow b) Anthony Downs

c) Johansson d) Karl Marx

13) ___________is defined as final resting  place.

a) Impact of tax b) Incidence of tax

c) Shifting of tax d) Tax buoyancy

14) The Finance Commission Constitute for the period of___________

a) Five year b) Ten year c) One year d) Two year

2. Write short notes (any four) : 12

i) Merit goods

ii) Private goods

iii) Project evaluation

iv) Decreasing cost and market failure

v) Laffer Curve.

3. Write short answers (any four) : 16

i) Elaborate the concept of incidence of taxation.

ii) Explain the ability to pay principle.

iii) Explain Wagner’s law of increasing state activities.

iv) Explain concept of zero based budgeting.

v) Explain the concept of excess burden of taxation.

4. Answer in detail (any two) : 14

i) Explain the term market failure.

ii) Explain the Peacock Wiseman Hypothesis.

iii) Explain Arrow’s Impossibility Theorem.

5. Explain the economic theory of democracy. 14

OR
Explain the role of government in mixed economy.

–––––––––––––––––
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M.A. – II (Semester – III) Examination, 2015
APPLEIED ECONOMICS (New – CGPA)

 Macro Economics Analysis
(Paper – II)

Day and Date : Wednesday, 18-11-2015 Max. Marks : 70
Time : 2.30 p.m. to 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Right side digit indicates marks.

1. Select the correct answer : 14

1) ________  is indicate the money value of final goods and services which are
produced in a given year within the country.

i) GDP ii) NNP

iii) National Income iv) GNP

2) Find the correct statement

i) GDP at factor cost = Net value added + Depreciation

ii) GDP at factor cost = Net value added – Depreciation

iii) GDP at factor cost = Net value added – Depreciation + Factor cost

iv) Name of the above

3) ________  is a method to present statistically the inter relationships between
the different sectors of the economy.

i) Social Accounting ii) Fund Flow Accounting

iii) Balance of Payment Accounting iv) Gross Domestic Product

4) NDP is

i) GDP at factor cost – Depreciation

ii) GDP at factor cost + Depreciation

iii) GDP at factor cost + National Income

iv) GDP at factor cost – National Income

P.T.O.

Seat
No.
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5) Find the correct statement

i) According to Baumol demand for money is interest inelastic

ii) According to Baumol demand for money is interest elastic

iii) According to Baumol demand for money is income elastic

iv) According to Baumol demand for money is expenditure elastic

6) The IS-Lm curve is mainly dealt with

i) Income, Rate of Interest and Output

ii) Saving, Investment and Output

iii) Saving, Investment and Rate of Interest

iv) None of the above

7) The _____ is always less than zero and more than one.

i) Average Propensity to Consume

ii) Marginal Propensity to Consume

iii) Rational Propensity to Consume

iv) Consumption Expenditure

8) According to Fisher demand for money can be calculated as

i) Price *Total goods and services ii) Price *Total services

iii) Price *Total goods iv) None of the above

9) People who invest either their whole money income or kept idle are known as

i) Risk Averter ii) Plungers

iii) Speculators iv) Risk Lovers

10) The Natural Rate of Unemployment indicates the equilibrium between

i) Investment and Saving

ii) Actual inflation and expected inflation rate

iii) Income and Expenditure

iv) Aggregate demand and Aggregate supply

11) According to Samuelson when α  = 0.5 and β  = 4 then there is

i) Cycle less path ii) Damped cycle path

iii) Explosive path iv) Constant cycle path

12) According to Keynes ________ is the determinant of business cycle.

i) Aggregate Demand ii) Investment

iii) Rate of Interest iv) Marginal Efficiency of Capital
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13) The long run theory of Philips curve is given by

i) J.K. Keynes ii) A.L. Fisher

iii) M. Friedman iv) Paul Samuelson

14) When the rate of inflation is lies between 3 – 8 %, then it is called as

i) Creeping Inflation ii) Walking Inflation

iii) Running Inflation iv) Galloping Inflation

2. Write short notes (any four) : 12

1) Net National Income.

2) Disposable Income.

3) Average Propensity to Consume.

4) Speculative Demand for Money.

5) Demand Deposit.

3. Write short answer (any four) : 16

1) What is meant by GDP at factor cost ?

2) Explain in brief Neo-classical theory of interest.

3) Explain the concept Hyper inflation or Galloping Inflation.

4) What is the Consumption Function ?

5) What is Trough ?

4. Answer any two questions : 14

1) Explain the methods of measuring national income.

2) Discuss the Hayek’s theory of over investment.

3) Explain the Risk Aversion theory of demand for money.

5. Explain within the IS-LM curve model the effects of monetary and fiscal policies
when wages and prices are flexible. 14

OR

Explain the Philip Curve in short run as well as in Long run.

_______________
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M.A. – II (Semester – III) (CGPA) Examination, 2015
APPLIED ECONOMICS (New)

Paper – IV : Human Development and Policy

Day and Date : Monday, 23-11-2015 Total Marks : 70

Time : 2.30 p.m. to 5.00 p.m.

             N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Choose the correct alternative : 14

i) Human Resource Development concept is first introduced by

a) M.M. Khan b) T.V. Rao

c) Leonard Nadler d) K.C.Gupta

ii) ________ is a economic determinant of Human capital.

a) Family b) Literacy c) Friends d) Assets

iii) ______________ is a component of Human Development.

a) Equity b) Sustainability

c) Productivity d) All of these

iv) According to Marshall Utility of a commodity is

a) realistic b) experienced

c) quantifiable d) all of these

v) ____ are the important capabilities.

a) Life b) Emotions

c) Practical reasons d) All of these

vi) According to David Clark __________ is a other attempts of capability approach.

a) jobs b) housing c) education d) all of these

vii) _______ is a component of Political security.

a) Freedom b) Religion c) Protection d) Diplomacy

Seat
No.

P.T.O.
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viii) ___________ is a quality of life factors.

a) Supporting individual b) Family

c) Community d) All of these

ix) _______ is related to Health scheme.

a) Jeevandayi Aarogya Yojana b) Navsanjivini Yojana

c) Both of them d) None of these

x) _________________ is a reason for Decline foodgrains.

a) Natural problems b) Not commercial purpose

c) Traditionally cultivation d) All of these

xi) Disability Adjusted life year is developed in

a) 1970 b) 1980 c) 1990 d) 2009

xii) _______ is a protective factors of personal security.

a) Skill b) Strength c) Resources d) All of these

xiii) Human Development Reports published by

a) Govt. of India b) State Government

c) RBI d) UNDP

xiv) YLL + YLD =

a) PQLI b) DALY c) GEM d) GDI

2. Write notes (any four) : 12

a) Significance of Human Capital.

b) Economic Security.

c) Hicks/Allen’s Utility Approach.

d) Human Poverty Index.

e) Social Capabilities Index.

3. Write answers (any four) : 16

a) Definitions and concepts of HRD.

b) Limitations of Per capita GDP as an indicator of Human Development.
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c) Explain Gender Empowerment Measure.

d) Methods of computing HDI.

e) Food security.

4. Give answer in detail (any two) : 14

a) Explain Disability Adjusted Life years.

b) Introduction to other attempts of capabilities Approach.

c) Explain factors of quality of life.

5. Explain distinction between Human Resource Development and Human
Development. 14

OR

Criteria for selecting capabilities Approach.

—————
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M.A. – II (Semester – III) (Old CGPA) Examination, 2015
APPLIED ECONOMICS (Paper – IV)

Human Development and Policy

Day and Date : Monday, 23-11-2015 Total Marks : 70

Time : 2.30 p.m. to 5.00 p.m.

             N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.

1. Choose the correct alternative : 14

i) Human Resource Development concept is first introduced by

a) M.M. Khan b) T.V. Rao

c) Leonard Nadler d) K.C.Gupta

ii) ________ is a economic determinant of Human capital.

a) Family b) Literacy c) Friends d) Assets

iii) ______________ is a component of Human Development.

a) Equity b) Sustainability

c) Productivity d) All of these

iv) According to Marshall Utility of a commodity is

a) realistic b) experienced

c) quantifiable d) all of these

v) ____ are the important capabilities.

a) Life b) Emotions

c) Practical reasons d) All of these

vi) According to David Clark __________ is a other attempts of capability approach.

a) jobs b) housing c) education d) all of these

vii) _______ is a component of Political security.

a) Freedom b) Religion c) Protection d) Diplomacy

Seat
No.

P.T.O.
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viii) ___________ is a quality of life factors.

a) Supporting individual b) Family

c) Community d) All of these

ix) _______ is related to Health scheme.

a) Jeevandayi Aarogya Yojana b) Navsanjivini Yojana

c) Both of them d) None of these

x) _________________ is a reason for Decline foodgrains.

a) Natural problems b) Not commercial purpose

c) Traditionally cultivation d) All of these

xi) Disability Adjusted life year is developed in

a) 1970 b) 1980 c) 1990 d) 2009

xii) _______ is a protective factors of personal security.

a) Skill b) Strength c) Resources d) All of these

xiii) Human Development Reports published by

a) Govt. of India b) State Government

c) RBI d) UNDP

xiv) YLL + YLD =

a) PQLI b) DALY c) GEM d) GDI

2. Write notes (any four) : 12

a) Significance of Human Capital.

b) Economic Security.

c) Hicks/Allen’s Utility Approach.

d) Human Poverty Index.

e) Social Capabilities Index.

3. Write answers (any four) : 16

a) Definitions and concepts of HRD.

b) Limitations of Per capita GDP as an indicator of Human Development.
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c) Explain Gender Empowerment Measure.

d) Methods of computing HDI.

e) Food security.

4. Give answer in detail (any two) : 14

a) Explain Disability Adjusted Life years.

b) Introduction to other attempts of capabilities Approach.

c) Explain factors of quality of life.

5. Explain distinction between Human Resource Development and Human
Development. 14

OR

Criteria for selecting capabilities Approach.

—————
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